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PROGRAM SAMPLE
IMPLICIT REAL*8 (A-H,0-Z)
PARAMETER(N=8000000)
PARAMETER(ITER=100)

DIMENSION A(N),B(N),C(N), IN(N)

WRITE(6,*) "Sample Program Start*®
CALL INIT(A,B,C,N,IN)
SUM=0.0DO0
DO 10 I=1,ITER
CALL CALC(A,B,C,N,IN)
CALL SUMALL(SUM,A,N)
WRITE(6,*) "SUM =",SUM
CONTINUE
WRITE(6,*) "Sample Program End"
STOP
END

SUBROUTINE INIT(A,B,C,N, IN)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(N),B(N),C(N), IN(N)

DO 20 1=1,N
A(1)=1.0D0*1
B(1)=2.0D0+1
C(1)=3.0D0/1
INCI) = 1

CONTINUE

RETURN

END

SUBROUTINE CALC(A,B,C,N, IN)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(N),B(N),C(N), IN(N)

DO 30 1=1,N
A(D=ACD+B(1)*C(1)

CONT INUE

RETURN




+42 END
+43 Co—mmm e
+44 SUBROUTINE SUMALL(SUM,A,N)
+45 IMPLICIT REAL*8 (A-H,0-Z)
+46 DIMENSION A(N)
+47 C
+48 DO 40 I1=1,N
+49 SUM=SUM+A(I)
+50 40 CONTINUE
+51 RETURN
+52 END
+53 C-—mmm e
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$ 90 -64 -Oss -o sample sample.f -pmfunc -pmpar
$ Is
sample sample.f

6-2

profile
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$ qsub —q profile sample.sh

Request XXXXXX.batchl submitted to queue: profile.
$ Is

sample sample.f pm_sample_Nov04_ 1425 b245 15367

6-3 profile

6.2
(pmpr)
6-4
SR11000




$ pmpr pm_sample Nov04_1425 h245 15367
pm_sample_Nov04 1425 b245 15367:
HRR R R R R R R R e

## Process ## ( )
HH R
Date > Thu Nov 04 14:25:55 JST 2010 D)
Hostname > b245
Process no : 15367
Load module name : ./sample
CPU time 1 1.327422[s]
MFLOPS : 119.031
MIPS : 306.961
CPU time Flop Inst MFLOPS MIPS )
T 0 1.327> 150505k> 397607k> 113.381< 299.533>
T 1 0.003101 500008< 657256 161.234 211.940
D 2 0.003148 500008< 657268 158.828 208.782
D 3 0.003030< 500008< 657357 165.005> 216.931
TD 4 0.003181 500008< 657388 157.175 206.646
T 5 0.003180 500008< 657376 157.227 206.711
D 6 0.003184 500008< 657340 157.038 206.451<
D 7 0.003174 500008< 657280 157.513 207.057
D 8 0.003097 500008< 657292 161.461 212.251
D 9 0.003145 500008< 657342 158.992  209.021
TD10 0.003115 500008< 657400 160.507 211.031
TD11 0.003107 500008< 657328 160.929 211.563
TD12 0.003150 500008< 657304 158.725 208.658
TD13 0.003118 500008< 657364 160.384 210.858
TD14 0.003097 500008< 657244 161.474 212.253
TD15 0.003148 500008< 657234< 158.845 208.793
TOTAL 1.374 158005k 407467k  119.031 306.961

Element parallelizing rate : (TOTAL)/(Max * TDs)
CPU time : 6.47[%] = 1.374/( 1.327*16)
Flop > 6.56[%] = 158005065/ (150504945*16) ©)

B T e R p e e
## Function/Procedure #( / )
B T e R p e e

= Function/Procedure Ranking ==

CPU time[%] Times Func(FiletLine)




0.995457[ 74.99]
0.322508[ 24.30]
0.006249[ 0.47]
0.003200[ 0.24]

1.327[100.00]

100 calc_(sample.f+37)
100 sumall_(sample.f+48)
1 init_(sample.f+24)

1 sample_(sample.f+8)

4)

B T e R p e e
## Element Parallel Region
B T e R p e e

== Element Parallel Region Ranking

CPU time[%]

#( )

Func[Rank] (FiletLine)

[ 1] 0.982974[ 75.13]
[ 2] 0.315813[ 24.14]
[ 3] 0.009549[ 0.73]

TOTAL 1.308[100.00]

MFLOPS MIPS Times
1627.714 3459.963 100
2533.185 3328.141 100

837.760 8855.699 1

Element Parallel Region Detail

[ 1] Func[Rank](FiletLine) : calc_[1](sample.f+37)

calc_[1](sample.T+37)

sumall_[2](sample.f+48)

init_[3](sample.f+24)
®)

()

CPU time Flop Inst MFLOPS MIPS Times
TD 0 0.975491 100000k> 212577k> 102.512 217.918 100>
TD 1 0.970943 100000k> 212562k  102.993  218.923 100>
TD 2 0.974108 100000k> 212563k  102.658 218.213 100>
TD 3 0.966845< 100000k> 212568k  103.429> 219.857> 100>
TD 4 0.981561 100000k> 212568k  101.879  216.562 100>
TD 5 0.982974> 100000k> 212568k  101.732< 216.250< 100>
TD 6 0.982911 100000k> 212566k  101.739 216.262 100>
TD 7 0.982812 100000k> 212563k  101.749 216.281 100>
TD 8 0.971938 100000k> 212564k  102.887 218.701 100>
TD 9 0.972373 100000k> 212565k  102.841 218.604 100>
TD10  0.976283 100000k> 212569k  102.429  217.733 100>
TD11  0.972437 100000k> 212566k  102.834  218.590 100>
TD12  0.974358 100000k> 212564k  102.632 218.158 100>
TD13  0.976864 100000k> 212567k  102.368 217.602 100>
TD14  0.970741 100000k> 212561k  103.014  218.968 100>
TD15 0.973357 100000k> 212561k< 102.737 218.379 100>
TOTAL 15.606 1600M 3401IM 1627.714 3459.963 1600




Element parallelizing rate : (TOTAL)/(Max * TDs)
CPU time : 99.23[%] = 15.606/(0.982974*16)

Flop > 100.00[%] = 1600000000/ (100000000*16)
2] Func[Rank](FiletLine) : sumall_[2](sample.f+48)
CPU time Flop Inst MFLOPS MIPS

TD 0 0.312791 50001k> 65703k> 159.854 210.056
TD 1 0.311645 50001k> 65688k  160.442  210.779
TD 2 0.314089 50001k> 65688k  159.193  209.140
TD 3 0.310036< 50001k> 65693k  161.274> 211.889>
TD 4 0.315628 50001k> 65695k  158.417  208.139
TD 5 0.315755 50001k> 65694k  158.353 208.054
TD 6 0.315780 50001k> 65692k  158.341  208.032
TD 7 0.315813> 50001k> 65689k  158.324< 208.001<
TD 8 0.311504 50001k> 65690k 160.514  210.880
TD 9 0.314163 50001k> 65692k 159.156 209.101
TD10  0.312949 50001k> 65695k  159.773  209.923
TD11  0.311984 50001k> 65692k  160.267 210.561
TD12  0.314417 50001k> 65690k  159.027  208.927
TD13  0.313005 50001k> 65693k  159.745 209.880
TD14  0.311609 50001k> 65687k  160.460 210.801
TD15 0.314008 50001k> 65687k< 159.234 209.189

Element parallelizing rate : (TOTAL)/(Max * TDs)
CPU time : 99.25[%] = 5.015/(0.315813*16)

Flop > 100.00[%] = 800012800/ (50000800*16)

3] Func[Rank](FiletLine) : init_[3](sample.f+24)

CPU time Flop Inst MFLOPS MIPS
TD 0O 0.005853 500000> 5285k> 85.423 902.997
TD 1 0.005767 500000> 5285k< 86.706 916.531
TD 2 0.005893 500000> 5285k 84.851 896.925
TD 3 0.005812 500000> 5285k 86.030 909.400
TD 4 0.009103 500000> 5285k 54.929  580.640
TD 5 0.009549> 500000> 5285k 52.360< 553.484<
TD 6 0.009241 500000> 5285k 54.108 571.953
TD 7 0.009475 500000> 5285k 52.768 557.791
TD 8 0.005873 500000> 5285k 85.133  899.909
TD 9 0.005829 500000> 5285k 85.775 906.701
TD10  0.005825 500000> 5285k 85.844 907.433
TD11  0.005843  500000> 5285k 85.568 904.517
TD12  0.005878  500000> 5285k 85.069 899.235
TD13  0.005753< 500000> 5285k 86.909> 918.687>
TD14  0.005834  500000> 5285k 85.706  905.968
TD15 0.005823  500000> 5285k 85.863 907.624




TOTAL 0.107351 8000k 84566k 837.760 8855.699 16

Element parallelizing rate : (TOTAL)/(Max * TDs)
CPU time : 70.26[%] = 0.107351/(0.009549*16)

Flop > 100.00[%] = 8000000/(500000*16)
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